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QUESTION 1

What can you define by configuring the Traceability Matrix? (Select three.)
A. The associated cycles

B. The requirements linked to and from the source requirements

C. The tests linked to and from the test steps

D. The source requirements

E. The source releases

F. The associated tests

Correct Answer: BDF

QUESTION 2

Which entities support version control? (Select three.)
A. Cycles

B. Requirements

C. Defects

D. Tests

E. Test Sets

F. Test Resources

Correct Answer:. BDF

QUESTION 3

In which module can a requirement be converted to a test?
A. Requirements

B. Test Plan

C. Defects

D. Management

Correct Answer: B
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QUESTION 4

Which status values are possible for a test instance? (Select two.)
A. Suspended

B. Not Completed

C. No Run

D. OK

E. Completed

Correct Answer: AE

QUESTION 5

In the Test Plan module, which graph enables you to correlate the number of tests and the elapsed time interval?
A. Tests Trend graph

B. Tests Results graph

C. Tests Summary graph

D. Tests Progress graph

Correct Answer: D

QUESTION 6

Whit is the name for a set of development and quality assurance efforts you perform to achieve a common goal that is
based on the release timeline?

A. Cycle

B. Test Plan

C. Test Set

D. Requirement

Correct Answer: A

QUESTION 7
What happens if you link a defect to a run? (Select two)

A. The defect is indirectly linked to the run\\'s steps because the run steps are lower-level.
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B. The defect is directly linked to the run and indirectly linked to the run\\'s test instance, the test set, and the test.

C. The defect is indirectly linked to the test instance and to the test set, but not to the test, because the link to the test
instance prevails.

D. The defect is indirectly linked to the test instance only, as indirect links only propagate to the nearest entity.
E. If the corresponding test is covered by a requirement, an indirect link is also added to the requirement.

Correct Answer: AC

QUESTION 8

What can you use to create a printable report?
A. Document Manager

B. Hypertext Generator

C. Project Reports

D. Backup Manager

Correct Answer: B

QUESTION 9

Which entities can you add to a Library? (Select three)
A. Test Sets

B. Defects

C. Business Model

D. Resources

E. Requirements

F. Tests

Correct Answer: ACE

QUESTION 10
Which types of external data can HP ALM Synchronizer process? (Select three.)
A. Rational ClearQuest defect data and Rational RegPro requirement data

B. HP ALM Projects defect data
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C. Tasktop defect and requirement data

D. Microsoft Team Foundation Server defect and requirement data
E. CollabNetTearnForge defect and requirement data

F. Microsoft Project requirement data

Correct Answer: BDF

QUESTION 11

How is version control enabled for a project?

A. In Site Administration, by using the versioning toggle control

B. In Site Administration, by checking Enable Version Control only at project creation time
C. In Project Customization, by using the versioning toggle control

D. In Site Administration, by using the Site Configuration parameters

Correct Answer: D

Reference:

http://h30499.www3.hp.com/t5/Quality-Center-Support-and-News/QC-Site-Configuration- Tab-in-Site-Admin/td-
p/4443810

QUESTION 12

How can you rename the Defects module for a specific project or template project only?
A. Edit the REPLACE_TITLE Site Configuration parameter.

B. Run the replace_title.bat - command from the command line.

C. Execute an SQL INSERT INTO statement against the project database.

D. Add an entry to the dbid xml file.

Correct Answer: A

QUESTION 13
What are the potential subsequent states of a "Fixed"defect in the default ALM defect lifecycle? (Select two.)
A. Complete

B. Reopened
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C. Reviewed
D. New
E. Closed

Correct Answer: BE

QUESTION 14

Which test types are supported out-of-the-box? (Select two)
A. LR-SCENARIO

B. MANUAL

C. CAPACITY_TEST

D. LOAD_TEST

E. BLACK-BOX TEST

Correct Answer: BC

QUESTION 15

In the Execution Flow diagram area, the dependency between two tests can be indicated by a green line arrow.
How is the dependent test executed?

A. Only if the controlling test finishes and passes its execution

B. Sequentially, with no conditions

C. Only if the controlling test finishes independent of the execution status

D. After a specified time interval, with no additional conditions

Correct Answer: D
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